
LI: To �a�a�i�a�ap�ay 2 �a�dg�it �a�a�ab�e�rs by 2 �a�dg�i�ms.

2 �a�dg�it by 2 �a�dg�it
17 x 15 = 255
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    (100 + 50) + (70 + 35)
= 150 + 105
= 255

2 �a�dg�it by 2 �a�dg�it
32 x 24 = 768
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    (600 + 120) + (40 + 8)
= 720 + 48
= 768



LI: To �a�a�i�a�ap�ay 2 �a�dd 3 �a�dg�it �a�a�ab�e�rs by 2 �a�dg�i�ms.

1. 16 x 21 =
2. 25 x 23 =
3. 34 x 25 =
4. 43 x 27 =
5. 52 x 29 =
6. 61 x 31 =

7. 65 x 33 =
8. 54 x 35 =
9. 43 x 37 =
10. 22 x 39 =
11. 31 x 41 =



LI: To �a�a�i�a�ap�ay 2 �a�dg�it �a�a�ab�e�rs by 2 �a�dg�i�ms.

12. T�te b�a�dd s�e�a�ms 16 �a�d�c�t�e�ms f�or �i�ms 
�c�o�d�c�e�r�ms. If �a�al �c�o�d�c�e�r�ms �a�re s�o�dd �o�it, 
�d�ow �a�d�ch �r�e �v�e�a�te �d�o�es �a�te b�a�dd 
�e�a�rn f�r�om �a�d�c�t�et s�a�t�es, �mss�a�a�a�dg 
�e�d�ch �a�d�c�t�et �c�os�ms £34?

14. F�a�rst B�ms �r�a�ms 26 b�ms �r�o�i�t�es. 
E�d�ch b�ms �d�a�t�es 24 s�d�ops p�er �d�ay. 
H�ow �d�a�ay s�d�ops �a�re �d�d�te �an �d�o�d�al 
by �a�al �a�te b�ms�es �e�d�ch �d�ay? 

13. G�d�msg�ow W�a�r�r�d�o�rs s�e�al 27 t-s�a�a�r�ms 
�e�d�ch �v�e�ek. If �a�t�ey s�e�al �a�t�em f�or 22 
�v�e�e�ms, �d�ow �d�a�ay t-s�a�a�r�ms �w�a�al �a�t�ey 
�d�a �ve s�o�dd by �a�te �e�dd �of �a�te y�e�ar?

15. A �w�a�r�e�d�o�mse s�a�aps 23 b�o�t�es �of 
�e�t�e�c�a�r�o�a�d�cs �e �v�e�ry �d�ay. If �e�d�ch b�ox 
�c�o�i�d�a�a�ms 41 �i�t�e�ms, �d�ow �d�a�ay �i�t�e�ms 
�a�re s�a�app�ed �an �d�o�d�al �e�d�ch �d�ay? 


